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B FE TEEREGEE

i LI He B B & e) WISE (534 ) B ARG i (ke) A (554) E~DEM ()
fi & LR
(ka) (kg/10a) (ke) A 744 gt il B4 & mTrm | BEH |
® 7| A E & B 7.5 158 11, 883 6, 300 4, 055 10, 355 = = " 928 570 1, 498
BH s B 0.8 180 1, 440 420 340 760 40 - 10 300 380 680
& F T 0.7 201 1, 408 810 160 a70 - - - 300 138 438
A o 0.3 205 847 360 360 720 494 - 494 127 - 127
X B 02 135 270 210 60 270 - = = - - -
| 9.5 15, 883 8, 100 4, 975 13, 075 534 - 534 1, 655 1, 088 2,743
E#L: | B B W 2.1 2,787 57, 900 54, 500 3, 400 57, 900
A— A v 22 2, 837 62, 430 51, B60 10, 570 62, 430
B # 1 &5 31 2, 795 86, 650 80, T00 5, 950 86, 630
#L A L6 3, 426 54, B30 46, 080 8, 750 54, B30
|
( ®EH) 27. 718 = 27,718 27, 718
gt 9.0 289, 528 233, 140 56. 388 | 289, 528
“HRKE| BLEFZRY 4.6 421 19, 380 19, 380 = 19, 380
A E| b 0.3 466 1, 400 800 - 800 = . - 440 - 440
o at | 234 326,191 | 261,420 | 61.363 | 322 783 531 2 534 2, 095 1,088 3,183
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B3 004 F E L ERGBEE

m T4 & o it B # {kg) il 4E (534 ) E Ml 5 AL ;
P o AR (ke B (554) E~oal ke
(ka) | (kg/10a) (kg) mrm | mra | Brm | #F N at 7R | mEA i
# g Kk IE & K 20 257 §, 140 4, 800 340 5 140
s G| ¥ LA A 20 242 4, 833 4, 500 333 4 833
x & | ~rTFvgex 20 2549 5. 194 4, B0 334 5 194
it 6 0 15, 167 14, 160 1, 007 15, 167
EBfiL: | B B % 0. 76 3. 106 23, 608 16, 900 - 16, 900
[ B S W 5 20 3, 549 70, 981 34, 280 = 34, 280
A —rg v 30 2, 403 72, 006 33, 460 - 33, 460
Yo ¥ o 012 3, 084 1. 786 3, 840 % 840
F 3 ¥ o 012 3, 005 4, 795 3, 620 500 4,120
(WA ) - - 83, 666 | 83, 666
EAp 60 176, 266 92, 100 84, 166 | L76, 266
A | o~ HY 0.6 193 1, 160 1, 080 - 1, 080
o at 12. 6 192, 593 107, 340 85,173 | 192 513
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& —_— TR Mo Yoo i B O & (ki) WAE (B3 8E) S aALT R (k) pobE ( 5548) E~OFEN (k)
(12} | (kg/100) (kg) MM | mTA it WEm | EFH at TR | WA Bt

x B 7L =F A 0,15 247 370 = = - 350 - 350

£ a 7 # 1. 60 196 3, 160 2, 800 2, 546 5, 346 3. 100 - 3, 100

T % a ¥ 2 55 224 5, 712 3,005 1. 180 4, 275 1,202 4, 434 5, 636

at 4. 30 g, 218 5, 895 3, 726 9 621 4, 652 4, 434 4. 086

BIE| #+=2ry 0.3 163 480 440 72 512

T Yary 03 101 304 250 19 289

Bt 0.6 793 690 111 BOL

A B | EHAK#MT 02 196 392 - 275 275 459 = 359
mwLy | LFE) | 205 3,035 | 89,548 | 61,120 | 26,353 | 87,473
== B 03 3. 493 10, 480 1. 000 7, 730 8 730
#t 3. 25 100, 028 62 120 34, D83 96, 203

75,-&*57 3. 05 1, 429 43, 589 29, 020 3, 493 32, 513 8, 200 100 8, 600 9, (00 2, 901 11, 901

=R h 0.5 1, 386 6, 980 - B20 620 — 440 440 4, 860 675 5, 535

it 3. 55 50, 569 29, 020 4,113 33,133 #, 200 840 a, 040 13, 860 3, 576 17. 436

4 at 6 80 150, 569 a1, 140 38, 196 129, 336 8, 200 840 9, 040 13, 860 3, 576 17, 436

#Hoe | @ &14%8 0.1 1, 558 1, 558 40 1, 190 1, 230 300 300 600

~ta¥ | E ¥ R 0. 07 354 268 126 - 126

& & 12 07 162, 825 91, 140 38, 106 129, 336 14,135 6, 031 20, 166 19, 987 B, 421 28, 408




